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SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions each in 30 words.

What is nuclear fission? Give any one example.
SAgEE® GaTe) EDID THE? QW THSISETH
m@.m. :
Distinguish between isobar and mmonos_o,

KCemumt HMID %@m:@lqa.ﬁ Caupu®sds s

What are bmﬁ.,omowoosm fertilizers?

MBLIRET 2 JRISET  cTaNmme)  erewnen?  @yewr(H

2_STIERTRISEET S(1hE.

What are hard water and soft water?

ag.an Bt wHmb Quen BiT erempmed eremmeni?

Write any two physical significance of entropy.

erem_Cumiullen @ e @EBB_E@ @m%Em@@.@@m
TGS, | , =

State “first law of thermodynamics”.

Qeuti Quissafwelen (psed elSufenar efeur.

T bse (k)
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SECTION B — (5 x 5 = 25 marks)

Answer any FIVE questions each in 200 words.

Explain the following :

(@) Binding energy

(b) Carbon dating.
EpanaTucDHIGE Nerdsid H(hs.
(o) Genamriiny pHmed

(<) &6 euws) safiliL.

How are the following manufactured?

() Ammonium sulphate.
(b) Potassium nitrate.

Spsam_amal creueuny swrfsstu@dns:?
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(=) GQumiLrdlwb epl Gyl

State . the . conditions and consequences of
resonance. ;

2 | et Qenseidsnet HlubSEISMETLLD. 6ilenereysenaruiid
T :

Hxﬁmwb. sp? and sp® hybridisation with m&_nm_zo
example.
sp® wpmd sp® Pessel9asHHE @@ 2 _FTFeRTLd
shg AasGs.
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What is nucleophile? How it differs from

electrophile?

s@maQUT  sryeRll erempmed erenen? @& ereueumy

ra&ELTren seult sryeiudemhsi CoumuGEmE?

What is. vo_%BoEmmﬁob reaction? Q;<o any two
examples.

r_er_s..Eqmae eilenen  erampred  ereman?  @uan(p
2 SATRTLD F(M5.

‘Pyridine is more basic than pyrrole. Explain.

Gifeer eranug 9Crmae oI oifs a:qmmmﬂassh
2 GL_wig). %9&&5 &(1H5.

What is ﬁro order of a reaction? Give mb% two
onBEmm for zero order ummoﬂcb

@@%QQEQ%QQEFQQB:QQQQV mvme E5.
cllerans® @ 2-geRtd sHE. .

Define a catalyst. MNEmE the mw.bmw&

characteristics of a catalyst.

eflanamyy sl uemgwny.  eSlenamyysdufen Qc_@_g._:aa
uawr_|sener elleré@s. |

The quantum yield for all photochemical reactions
are not equal to one. Why?

aear gafl Cafl clmaseaien Geoumam_ b %@9@@8
WELILSET @D SiHa. STERTLD T 0.

2 50303/SBADC

What ~are the limitations of first law of
thermodynamics?

Qeuliu @EWQ%E%% . psemd fssmen

| QUDTLIDDEMETS S(1HS.

Derive an expression for half-life period of a first
order reaction.

gLy aflenarulic Sy Yyl sresdherar
Gereneuenw cumed.

Distinguish between fluorescence and
phosphorescence.

gaflisd wppmd Herdpralismn CanL@sss sm .
SECTIONC — (3% 10= 30 marks)

Answer any THREE n.:.m,m,ﬁobm each in 500 words.

(a) Narrate the applications of radioactive
isotopes.

(b) Ilustrate Soddy’s group displacement law
with suitable example.

(@) sfifluss  gGenCLmiysefler LweTLrGsamer

eflfleuns eflaré@s.
(<2p) agmgev  GgmELiy AL UGuuwrsflenw 5BHS
TOSSIEETHLer aflensEs.
4 50303/SBADC

[P.T.0.]



21.

22

23.

(a)
()

©

What are the advantages of gaseous fuels?

Describe any two methods of softening hard

‘water.

Discuss the preparation and uses of silicones.

(<) aumy erflu@ummL_seten nw_@_m.?@@a% wWIreneu?

(=) sgaper Quememwwinsghd gGseib @q@ﬂ@

(@) &eN&Caman WE:EDL

(a)

(b).

(=) Ser EBE_..D e eflenensignéaren erem Gyma

wpevpaener eleufl. \

LHpId
clens@s. J

(a) Ilustrate gﬂouoobuzmmﬂob i:& suitable
example. -
4
(b) Write the preparation and four ovmubom_.
. _properties of Thiophene.
(=) Qenemriibeveon ot aflesey . U
THSFISHT_([HL6 %3@@&

(=) sCwmen gumAiiy LHDIL HTENE @E%EEQ

LIGRTL|SHENET 6T(LP&I5.

Discuss the entropy change in um<o~.m~Eo and
irreversible processes.

‘Explain Carnot.cycle.

wrppsmS el

() snienml sHHemws %ﬂw@.&.
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Explain the Urogmobm;ﬁmm umm.oﬁob with
suitable example, .

Derive Arrhenius equation.

Give reasons for the high quantum yield of

"H, - Cl, reaction.,

(=) gofl eyl clemaranul ﬂ@m@aaqr@rg

959&@.&

(<=1) @fMEafue e enL au(medl.

(@)

H,-Cl, = deoawies <ifs
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